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1. Evaluate the limits: (&> 8%)

(a) lim v1d+z—3
T——4 Qj—|—4 ’

(®) Tim (Sin(?):n) . tan(5a:)) |

z—0 \ tan(z)  sin(27)

. 6% — 6 — 18z — 2712
(c) lim :
z—0 .’L‘B

: d W
2. Find the derivative (¥:&#) d—y of the followings:(#&* & 84%")
-

(a) y=23+ Yz — \;E
(b) ¥ = vz cos(z).
(c) y=(3z% + 5z + 1)1,

(d) y = sec*(z%).

3. I'ind an equation of the tangent line(374%) to the graph of f(z) = e~ at the point (0,1). (6
»)

4. Find the absolute extrema of f(z) = z — sin(2z) on the interval [0, 27]. (647)

5. Bvaluate the following integrals: (%12 8%")

1 3
2% + 21
b dzx.
(b) f\%a3+3m2+17 .

(c) /:ce‘m dz.

(d) /tanB(a:) sec*(x) dz.




